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deed. No interest is allowed on current accounts. Interest of

4% p.a. on drawings is chargeable. The accounts of the firm

showed a net profit of Rs. 80,000 before taking into account

the interest on capital and drawings and subject to the
following rectifications :

(1) Life Insurance Premium of 'X' amounting to Rs. 750
paid by the firm on 31-3-2011, has been charged to
miscellaneous expenditure a/c.

(2) Repair of machinery amounting to Rs. 10,000 debited
to plant a/c and depreciation charged thereon @ 20%.

(3) Travelling expenses of Rs. 3,000 of "Y' for a personal
trip to U.K. paid by the firm on 30-9-2010 has been
debited to travelling expenses account. (16)
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UNIT-I (¥T8-1)
What do you mean by Accounting principles? Explain the
different types of Accounting principles. (4+12)

St fogrl @ e Fa sferg #7 oiea & fafv=
TR % fagr w1 vl w1

What is Ledger? What is its need? Also distinguish between

'Books of original entry' and 'Ledger'. (2+4+10)
AEEE F 7 THE F SEvaRdl 87 YRt yfafe #
T UE @ § SRR Hig

State the meaning of Capital expenditure and Revenue
expenditure. What is the difference between them? (8+8)

Yol =79 TE AP S A qE T R SRR 82
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From the following balances of Mr. Shyam Lal, prepare a
Trading and Profit & Loss Account for the year ended
31 March, 2017 and a Balance-sheet as on that date.

Y e % = 9 #) germ | 31 W, 2017 # 96w
W I 9¥ % fau =aie @ arv-wfy @ SR o
6 fafyr = ferfa-faeo ot dar #ifwe .

Rs. Rs.

Capital Account 41,000| Cash at Bank 2,000
Creditors — Trade 30,000| Cash in Hand 110
Creditors — Expenses 6,800| Drawings 5,000
Rent received 600| Purchases 1,71,000
Purchase Returns 4,000 Carriage inwards 1,500
Sales 2,89,600| Wages 23,000
Bad debts provision Power 9,000
on st April, 2015 600| Rent & Insurance 19,900
Advertising development  8,000| Salaries 34,400
Goodwill 5,000 Discount received 1,800
Plant & Machinery 20,000| Ganeral charges 8,600
Traveller's samples 2,700 Sales Returns 600
Stock on 1-4-2016 32,000| Traveller'scommission 2,890
Debtors 14,600 Traveller's salary 9,100
Discount allowed 5,000

Adjustments :

The closing stock was Rs. 23,000 but there has been a
loss by fire on March 20, 2017 to the extent of Rs. 20,000,
not covered by Insurance. Depreciate Plant and Machinery
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by 10% and Traveller's samples by uum %. Increase the Bad

debts provision to Rs. 2,000. Write off 20% Advertising
Development account. Annual premium on insurance
expiring 1st June, 2017 was Rs. 1,200. Provide for Manager's
commission @ 5% on net profits. (16)
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UNIT-II (3%T$-11)
A of Delhi consigns goods m.. 'B' of Mumbai to be sold at
or above invoice price. B is to get 10% commission on sales
at invoice price plus 20% of any surplus price realised.
'A' draws bill on B at 60 days for 50% of invoice price. The
balance of proceeds being remitted by bank draft by 'B'
after deduction of his commission immediately upon sale.
During the year ended 31st March, 2013, 'A' consigned to
'B' goods whose total cost including freight was Rs. 1,50,00
and the invoice price of which was Rs. 2,25,000. Sales by
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'B' during the year amounted to Rs. 2,05,000. On
31st March, 2013, goods unsold with 'B' were of invoice
price of Rs. 67,500. 'A' received from 'B' by bank draft the
amount becoming due, leaving proportionate advance as
balance with them. Show the ledger accounts in the books
of 'A' recording the above transactions, closing the accounts
on 31st March, 2013. (16)

feeett # T’ A ged B ' F AoE T W I AE
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R 10% FHEIH IR fivw g | afyw FEa W 20%
FHYE W B 3 | w9 ® 50% @ o
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Ram Brothers invoice goods to their branch at cost plus

1
uuw@.‘u. Branch expenses are met from branch cash and

balance money is remitted to H.O. Prepare Branch Account
from the following :

ﬁiia@ﬁﬁmﬁfm@%ﬂim_
E 9 el I%E ¥ FH OF OwwER N U wum
FEeE ® 99 s 8 Frefafas ¥y @ $ER
wIY

Rs. (%.)
Stock on 1st April, 2015 (&feam) 15,000
Stock on 31st March, 2016 (T&fearn) 20,000
Debtors on 1st April, 2015 (3TER) 24,200
Debtors on 31st March, 2016 (378R) 21,500
Goods sent to branch from H.O. 56,000
(Y W@ S .
Cash sales (7%% fora) 38,400
Credit sales (S¥R TorFa) 44,000
Expenses paid by HO. ° 7,800
(Je a3 =@ w1 yaE R
Expenses paid by branch 2,100
(Yen ¥ =@ H e R
Branch Cash balance on 1-4-2015 4,400
(1-4-15 H wmEn IHg W)
Branch Cash balance on 31-3-2016 5,000
(31-3-2016 I W@l IHE ¥N)

(16)
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(i) Illustrate the method of recording joint venture
transactions when each party records his own
transactions in his own books. (8)
ISP ST ¥ AU WIE WEE WA-SA w T
# I TEH F TEEEY TE TEE TEHRL AT
e § waw A W e T

(i) Distinguish between Receipts and Payments Account
and Cash-book. (8)

Tt SR T TR aen IwE YR A SR i

UNIT-III (¥&T§-I0D)
On 1st April, 2012, 'A’ purchased on hire purchase from ‘B’
machinery valued at Rs. 12,000 payable in three yearly
instalments of Rs. 4,000 each plus interest @ 6% per annum.
Only one instalment was paid and 'B' on the basis of mutual
agreement arranged immediately, the second instalment has
become due to take back the machinery, which cost
Rs. 8,000 allowing Rs. 4,500, provided that 'A' paid all
interest due to that date on the full amount owing. 'A' had
written off depreciation at 10% per annum on the diminishing
balance. Show machinery account and B's account in the
books of 'A'. (16)
| adm 2012 W ‘e R ‘T F fETW-FT TER W
12,000 % 1 He= A =, Forwan g 3 e fameat
3 ford @ T 4,000 T F o, fR T em W e
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Explain the Garner vs. Murray Rule with suitable example.
When this rule is applicable in India? (12+4)

imﬂﬂaﬂn&ﬁﬁsﬁaﬂﬁﬂﬂ_ﬁjﬂ
ara § w9 @n] o 22

Prepare the Profit and Loss Appropriation Account and
Partner's Current account from the following particulars :

fre gEAell ® SMUR W -BH FEESA T qe
T B W6 @ aA

X Y yA
Capital 1-4-2010 75,000 40,000 30,000
(gst) !

Current A/c 1-4-2010 10,000 5,000 5,000
(W, ) (Dr.)
Drawings ( STEX) 15,000 10,000 10,000
Interest on Drawings 500 190 350

(e W W)

Profit sharing ratio of X, Y, Z, in partnership is 2: 1 : 1 and
interest on capital is allowed 5% p.a. as per Partnership
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